Notations:

Banaras Hindu University

1.Options showr in green Color and with ¥ 1COn are correct.

2 .Options shown in red color and with % icon are incorrect.

Question Paper Name: 610
Subject Name: 610
Creation Date: 2019-10-22 13:17:58
Duration: 120
Total Marks: 300
Display Marks: Yes
Calculator: None
Magnifying Glass Required?: No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required?: No
Protractor Required?: No
Show Watermark on Console?: Yes
Highlighter: No
Auto Save on Console?: No
EET _Kriva_Sharir
Group Number : 1
Group Id: 76221110
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 300
Research_Methodology
Section Id : 76221119
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 40
Number of Questionsto be attempted: 40
Section Marks: 120
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 76221119



Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2
Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
> ®° '

Random Sampli.ng

e e r
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Bi-variate Analyziz

Question Number : 2 Question Id : 762211902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 ® \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

4 forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :

Ul BT TES BT IASTAT SUY oAl ol Gehel 2

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research

- x I BT B T

Duration of research

4 % T @I 3@ty

Question Number : 6 Question Id : 762211906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE

Question Number : 7 Question Id : 762211907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA

Question Number : 8 Question Id : 762211908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE

Question Number : 12 Question Id : 762211912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©

Question Number : 14 Question Id : 762211914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8




Question Number : 15 Question Id : 762211915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov

Question Number : 16 Question Id : 762211916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 762211923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1

Question Number : 24 Question Id : 762211924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST

Question Number : 28 Question Id : 762211928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g

Question Number : 29 Question Id : 762211929 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k

Question Number : 36 Question Id : 762211936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR

Question Number : 38 Question Id : 762211938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio

4 )
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

L % € IRGMSAT W WR < @

It iz a method used in qualitative rezearch

» IF U faftr & e war e e H Ear 8
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

According to Dalhana, ............. ATTRTTH S UTA

Options:
FITHT, AP

1. ¢

o w SGIHT, HETPT

- % Hlepd, J™Hdd

Question Number : 42 Question Id : 762211942 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

UGC-CARE stands for which of the following ?

Options:



| « UGC-Consortium for Academic and Research Ethics

> % UGC- Coalition of Accredited Research Publications

5 % UGC- Compilation of Advanced Research and Established Journals

4 % UGC- Contributions of Accredited Research Establishments

Question Number : 43 Question Id : 762211943 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

G SUEATG TAAT el | T ag9ai= ... || Complete this verse
Options:

; % GIuSTgedr:

o % STATEA
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In case of Artava Kshaya substances having predominance of which Mahabhuta
are given ?

Options:

Y, Agni

5 % Prithvi
= E3 ]—ﬂ.lﬂ.

4 % Vayu

Question Number : 45 Question Id : 762211945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



As per Acharya Charaka, Mool of Mutravaha Srotas are :

Options:
; % Vrikka & Vasti

5 % Vasti & Medra
= % Vrikka & Vankshan

4 Vasti & Vankshan

Question Number : 46 Question Id : 762211946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Folic Acid is inhibited by :
Options:
L Methotrexate

5 R Avidin
= % Isoniazide

4 % Dicoumarol

Question Number : 47 Question Id : 762211947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Normal level of Calcium in Blood is -

Options:
, % 50-70 mg/dl

> % 02-05mg/dl
s % 50-100 mg/dl

4 9-11 mg/dl

Question Number : 48 Question Id : 762211948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



Site of Medodhara Kala is :

Options:
, = Udar

o Udar and small bones
z ® Udar and long bones

4 R Joints

Question Number : 49 Question Id : 762211949 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Expiratory Reserve Volume is -

Options:
, % 500ml

- 1100 ml

2 ® 2500 ml

Question Number : 50 Question Id : 762211950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

%

T . BUMTGEA PTG | Fill in the blank with correct option.

Options:

1_WW

4 % TR

Question Number : 51 Question Id : 762211951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question



According to Sushruta Purusha has following characteristics :

Options:

| w Somfiirmaufivmerer i

5 ® Sraafafisoaaefdraqegrenfdof

5 % STATCIEATIATHAEH U HE2TerH .

4 o TTAEIST U AT H O ST UTHEI e H T

Question Number : 52 Question Id : 762211952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which one of the following is not the lysosomal storage disease ?

Options:
, w Fabry disease

> % Gaucher disease

= % Tay-Sachs disease

4 Charcot-Marie- Tooth disease

Question Number : 53 Question Id : 762211953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In context to cardiac axis, in hexagonal reference system normal axis deviation for
QRS complex ranges from :

Options:

1 « 30 degree to + 110 degree

5 % Beyond + 110 degree

5 % Beyond -30 degree

4 ® Any degree 0 degree to 360 degree

Question Number : 54 Question Id : 762211954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Cuestion Lakel : Multiple Choice Guestion

In a person light reflex in both eves was absent, which of the following cranial
nerve was most probably atfected ?

Options:

| % Ophthalmic Nerve

- Trigeminal Nerve

5 x Facial Nerve

4 Qculomotor Nerve

Question Number : 55 Question Id : 762211955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label ; Multiple Choice Guestion
Which one of the following is incorrect regarding ESR ?
Options:
It is lower in infants and gradually increases to adult level in next
| % fewr years.

> % ltisused as indicator for bodily infection of inflammation.

It may also increase in case of some acute non infectious inflammation like
z ® oot

4 It is higher in people residing in high altitude area.

Question Number : 56 Question Id : 762211956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following anticoagulant is used in blood bank for the storage of
blood ?

Options:

; % Double oxalate mixtures

5 % Sodium fluorides

-  Citrate Phosphate Dextrose-Adenine



4% Trisodium citrate with double oxalate

Question Number : 57 Question Id : 762211957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In Context to Oja, Acharya Chakrapani has described Vidhamyante as :

Options:

| ® Mahate

5 of Visarpante
5 » Gatante

4 % Pratistheta

Question Number : 58 Question Id : 762211958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

In perspective of Sveda Kshava and as per Acharva Chakrapand,
Sparzhavaig;m}'a is due to :

Options:

| % Increased dryness as there is diminished secretion of sweat glands

This feature is not mentioned under manifestation of Sveda Kshava

. w as perception of touch is the function of Rakta Dhatu

Sveda Kshaya results in aggravation of Vata which is responsible
2 for Sparshavaigunya.

, % Causeis not known

Question Number : 59 Question Id : 762211959 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Renal blood tlow can be calculated by which one of the following formula ?
Options:
, « Renal blood flow = Renal Plasma Flow x 1,/1 - Het



> % Renal Blood flow = Renal Plazsma Flow x Hct

- % Renal Blood flow = Renal Plasma Flow x Diastolic Blood Pressure

4 % Renal Blood Flow = Hct x Plasma volume

Question Number : 60 Question Id : 762211960 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

According to Chakrapani, HHAFT in the context of ATENUNUITHGHYATE stands for
Options:
| % THDEHANGBITIATT:

5 % QTR AT =T,

5 SEREUG AT TC R A aerarT

4 % JETECTHTI=IIRRIfAfaATeT. F=EaT:

Question Number : 61 Question Id : 762211961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Fill in the blank - TEFcaT AT oo T C

Options:
1. % ;.1 r.é'-.li

o % el
SWW

4 o TECATEH

Question Number : 62 Question Id : 762211962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Following is NOT true about Insulin :

Options:
| % ltcausesa tall in blood glucose level



5 of Glucose permeability of brain cells is insulin dependent

2 ® Promotes Amino acid, potassium & phosphate uptake by the cells

4 % Insulin promotes glucns.e storage by the muscles

Question Number : 63 Question Id : 762211963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Following is NOT true about ventricular muscle action potential :
Options:
1% Plateau Phase is present

> % Long refractory period
5 % Mainly Sodium, Potassium and Calcium ion channels are involved

4 Is similar to skeletal muscle action potential

Question Number : 64 Question Id : 762211964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Kidneys secrete the fc:llu::wing substances EXCEPT -

Options:
| % Erythropoietin

5 % Renin
z Dehyvdroepiandrostenedione

4 % Calcitriol

Question Number : 65 Question Id : 762211965 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Which blood is suitable for establishing normal blood standards ?

Options:
, % Arterial blood



5 % Capillary blood
= « Venous blood

4 % Arterial or capillary blood

Question Number : 66 Question Id : 762211966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

i e T oL Y e - - . - . .
e aYdrel, SrEqell, MAeRe-dd are the features of which of the following ?

Options:
n Kapha Prakriti Purusha

5 % Mazza Sara Purusha

= % Pitta Prakriti Purusha

4 ® Shukra Sara Purusha

Question Number : 67 Question Id : 762211967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following Srotasa gets vitiated by performing excessive exercise,
excessive exposure to heat (santaapa), intake of cold and hot tood substances
without sequence, afflicted with anger, grief and fear ?

Options:

| % Pureeshavaha Srotasa

5> % Rasavaha Srotasa
5 Svedavaha Srotasa

4 % Annavaha Srotasa

Question Number : 68 Question Id : 762211968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following test is used for the assessment of Adrenal Gland
Function ?



Options:
;| « Metyrapone Test

o % Spin Barkeit Test

2 % Vandenberg test

., % ERCP

Question Number : 69 Question Id : 762211969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

According to Acharya Arundatta, Anjali Pramana of Par Oja is :

Options:
| % Ashtabindu

> % Ardhanjali

5 Shadabindu

4 % Pancha Bindu

Question Number : 70 Question Id : 762211970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

According to Acharya Chakrapani, which of the following description ot
Sleshma Vikara Balasaka is incorrect ?

Options:

, w Balakshaya

> % Manda Jwara due to increased Kapha

s % Sthoolangata

4 Balavriddhi

Question Number : 71 Question Id : 762211971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Gap junctions :



Options:
| w are absent in cardiac muscle.

5 % are present but of little tunctional importance in cardiac muscle.

are present and provide the pathway for rapid spread of excitation from one
=  cardiac muscle fiber to another.

4 % connect the sarcotubular system to individual skeletal muscle cells

Question Number : 72 Question Id : 762211972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

According to Sharngadhara Sambhita, the Mala accumulating in the ears is the
mala of :

Options:

| % Rasa

5 of Mamsa
= Y Rﬁ]‘;tﬂ

4 % Meda

Question Number : 73 Question Id : 762211973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

%, -

EIEAGTP oo GAUTHRETT | Fill in the blank -
Options:

%,

1% 0
> o Tl
S_ggfﬁaw:

4 # 14 Ty (]
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Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

. el WIqg=EdRd: | Fill in the blank :

Options:

| %
% 59

Question Number : 75 Question Id : 762211975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Foled, Oielcd, Tv=l, WY are included under which Dhatupradoshaja diseases ?
Options:

| Rasa

o ® Rakta

2 ® Asthi

4 % l'\r[fl‘]'] a

Question Number : 76 Question Id : 762211976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

According to Hemadri, in case of a dominance of Vata and Pitta, which of the
following Agni will be seen ?

Options:
L o T
= " =

4 % Td9H

Question Number : 77 Question Id : 762211977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

According to Sushruta Sambhita, the Kshaya of which of the following leads to
Options:
1 % Rasa Dhatu

>  Rakta Dhatu

T W Sweda

4 % Medo Dhatu

Question Number : 78 Question Id : 762211978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Choose the correct meaning of the following verse :

QIUETET: AU WHFHY: WU, T HAAS 4e U |

BN THTATD Rep =BT |

Options:
Samana Vayu resides in the thoracic region and Prana Vayu resides in Head.
Though Prana Vayu and Udana Vayu Perform similar functions, their
locations are ditferent. This can be compared with a situation where a florist
and a potter residing in different houses, perform similar kinds off unctions,
| % namely, selling the pots and selling the flowers.
Prana Vayu and Udana Vayu reside in the thoracic region, which is also the
site of Samana Vayu. Yet, all the three perform different functions. This is
like a situation, where, three people residing in the same house: a florist, a

- potter and a blacksmith- perform ditferent functions.

Though the thorax is the common location of Prana Vayu and Udana Vayu,

the functions of these two types of Vayu are different. This can be compared

with a situation where a florist and a potter residing in the same house
3 o perform ditferent kinds of functions.

All the other options are wrong. There is no mentioning of potter and florist

4 % 1IN the original verse.
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Correct Marks: 3 Wrong Marks: 1



ouestion Label : Multiple Choice Question

TAIERIATISTl characteristic of Kapha Prakriti is due to which Guna ?

Options:
, % Snigdha

-~ % Shita

3 & Madhura

4 % Pichchila

Question Number : 80 Question Id : 762211980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Match the host institutions given in column B, with the names of the scholarly

journals being published by them, given in column A

Column-A Column-B

1. Journal of A. AVP Rezearch Foundation
Avurvedaand Integrative Medicine

2. Ancient Science of Life B. Gujarat Ayurveda University
3. AYU C. Central Council for Research

in Ayurvedic Sciences

4 Journal of Drug Research in D. Trmudis.ciplmar}' University,
Avyurvedic Sciences Bangalore and World
Avurveda Foundation

Options:

, % 1-2,2b,3c 4d

- 1-c, 2-a, 3-b, 4-d

2 % 1-b, 2-c, 3-a,4-d

4 1-d, 2-a, 3-b, 4-c

Question Number : 81 Question Id : 762211981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which one of the following statement is incorrect ?

Options:



| % The affinity of fetal hemoglobin for Oz is greater

o % Red cell 2,3-BPG concentration is increased in chronic anemia

s % 2,3-BPG level falls in stored blood

4 Fetal haemoglobin has a strong atfinity to 2,3- BPG

Question Number : 82 Question Id : 762211982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

Which one of the following Acharyva has described the site of Antaragni in
between Aamashya and Pakvashya and half Angula left lateral to umbilicus ?
Options:

1 % Bhela

5« Indu

2 % Arundutta

4 % Dalhan

Question Number : 83 Question Id : 762211983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following changes tends to increase GFR ?

Options:
| % Increased atferent arteriolar rezistance

5 ® Decreased efferent arteriolar resistance

5 Increased glomerular capillary filtration coetficient

4 ® Increased Bowman's capsule hydrostatic pressure

Question Number : 84 Question Id : 762211984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



Who has mentioned the site of Kapha as Bahu and considered the Balwana and
Bahu quality of Kapha ?

Options:

, # Sharangadhar

o Kashyapa
5 % Vagbhatta

4 % Bhela

Question Number : 85 Question Id : 762211985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A young lady has puffiness of the skin and a hoarseness of voice. Her plasma
TSH concentration is low but on giving TRH increases markedly. She is suffering
with :
Options:

% hyperthyroidism due to a thyroid tumor.

5 % hypothyroidism due to a primary abnormality in the thyroid gland.

2 % hypothyroidism due to a primary abnormality in the pituitary gland.

i hypothyroidism due to a primary abnormality in the hypothalamus.

Question Number : 86 Question Id : 762211986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Sthuladeerghavritta Sandhyascha is the feature of :
Options:
| % Asthi Sara

5 Majja Sara

2 % Meda Sara



4 R Mamsa Sara

Question Number : 87 Question Id : 762211987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following statement is not correct ?
Options:
In recording limb lead I, the negative terminal of the electrocardiograph is

; w connected to the right arm and the positive terminal to the left arm.

To record limb lead II, the negative terminal of the electrocardiograph is
> % connected to the right arm and the positive terminal to the left leg.

To record limb lead III, the negative terminal of the electrocardiograph is
2 % connected to the left arm and the positive terminal to the lett leg.

To record limb lead III, the positive terminal of the electrocardiograph is
4 connected to the left arm and the negative terminal to the left leg.

Question Number : 88 Question Id : 762211988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Elasticity of the wall of the Aorta ensures that :
Options:

| & Systolic BP is not too high and Diastolic BP is not too low

5 % Systolic BP is not too low and Diastolic BP is not too high

% Cardiac Dutput iz not too high and venous return is not too low

4 % Cardiac nutput is not too low and venous return is not too lu'gh

Question Number : 89 Question Id : 762211989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

According to Charaka Sambhita which of following is NOT a Pranavatana ?

Options:



| % Shukra

o o Rasa

2 ® Mjas

, % Rakta

Question Number : 90 Question Id : 762211990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which one of the following is TRUE about Calcitonin ?
Options:

| ® It is a steroid hormone
> % ltissecreted from Osteoblasts in the bones
5  Inhibits osteoclast activity in bones

4 % Calcitonin increases blood calcium

Question Number : 91 Question Id : 762211991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following is NOT a cardiac Efficiency Test ?
Options:

1 % Harvard Step Test

o % Treadmill Test

5 % Bicycle Ergometry

7 Resting ECG

Question Number : 92 Question Id : 762211992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Praseka (excessive salivation) mav manifest as a feature of Kapha Vriddhi, and
Dhattura(Datura metel) has been described to possess Kaphaghna' property.
Now, choose the most appropriate statement among the fnllnwi_ng :
Options:

Dhattura cannot block excessive salivation because salivation is not a
1 % muscarinic action

Dhattura can block salivation because salivation is mediated through
5 % nicotinic receptors

Dhattura can block salivation because salivary glands are innervated by
3 % sympathetic cholinergic neurons

Dhattura can block salivation because its chemical constituents are
4 « Muscarinic antagonists

Question Number : 93 Question Id : 762211993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which hormone is secreted from the Para-follicular cells of thyroid gland ?

Options:
| % Vasopressin

o Calcitonin
2 % Prolactin

4% Follicular Stimulating Hormone

Question Number : 94 Question Id : 762211994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Acetylcholine is secreted at the following sites except :
Options:
, % All postganglionic parasympathetic fibres

. % All preganglionic sympathetic and parasympathetic fibres

= ® Neromuscular junction



4 All postganglionic sympathetic fibres

Question Number : 95 Question Id : 762211995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

According to Vagbhatta, Pleeha Vriddhi is seenin :
Options:
; « Meda Kshaya

5 % Rakta Kshava
2 ® Both in Meda Kshaya and Rakta Kshaya

4 % MedaVriddhi

Question Number : 96 Question Id : 762211996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Question
DOAJ stands for :

Options:

, % Digitization Of AYUSH Journals

o o Directory of Open-Access Journals

- % Database Of Ayurveda Journals

4% Databasze of Ancient Journals

Question Number : 97 Question Id : 762211997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

INERREIER] aTdeITRT Iv7 9aT Tored—2l Mgl These are the features of which of
the following ?

Options:

| % Vata Vriddhi

5 of Ojo Vyapada



5 ® Ojo Visransa

Pureesha Vriddhi
4 ®
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

According to Ashtanga Sangraha, Shukra Pratipadana is the function of :
Options:

1% Samana Vayu

. % Apana Vayu
= Vyana Vayu

4 % Prana Vayu

Question Number : 99 Question Id : 762211999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The duration of first and second heart sound is respectively ( P.N 270, Guyton) :
Options:
L 0.14 second and 0.11 secand

> % 0.20 second and 0.22 second
- % 005 second and 0.10 second

4 % 0.5 second and 0.25 second
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

According to Acharya Hemadri, Himsparshaneva Dukham is the feature of

which of the following ?

Options:



| % Vata Kshaya
> % Kapha Vriddhi
> Pitta Kshavya

L% Mandagni



